P N

A\ 4

B

SIS =&l BB T

ITREHAERNDERAE

I

s

ke

|2 FR . VP-3501183
B E - YZ77-1

¥R : 100gXE/CMYK
EBFR~ : 360x210mm
FREIR~T : 72x105mm

AP IEHE (R[X)

P N
A A 4

SIRUI

Professional Photographic Equipment

INSTRUCTIONS

VP-350
Telephoto Lens Support Plate

GUANGDONG SIRUIOPTICAL CO.,LTD.

Add: The Third Industrial District, Wuguishan Town, Zhongshan City,
Guangdong, China (Zip Code: 528458)
Tel: 86-760-88897373 Fax: 86-760-88207062
E-mail: info@sirui-photo.com Website: www.sirui.com

€9°€C/0L9 SPT*06x0CF 0SE-dA

z0/6 ww
pUVSIETYY suoneoynads

| 4ob
v

Hey) eyeq 0S€-dA

1.Know your VP-350

VP-350 QR Telephoto Lens Support Plate

SN | Non-slip rubber pad

1/4" screw
3/8" screw
1/4" screw
3/8" screw

1/4" screw
5 Camera QR Plate

Quick Release Clamp
Quick Release Clamp Locking Knob

Horizontal Adjustment Rail

2.Attaching the VP-350

Connect to Camera body

Tighten

«Q

Loosen

1/4" or 3/8" screw can be replaced
by removing the Rubber Piece

1. Know your VP-350
The VP-350 is specially designed for supporting large telephoto
lenses. The VP-350 Telephoto Support Plate is designed to fit on the
SIRUI Video head (or other video heads with Manfrotto compatible
quick release plates).

2. Attaching the VP-350
Attach the Camera QR Plate onto your camera; then attach the
Horizontal Adjustment Rail into the Horizontal Adjustment Clamp.

3. VP-350 Operation
@ Loosen the Adjustment Clamp Locking Knob and move the
Horizontal Adjustment Rail to its lowest position.
® Place the camera onto the lens and attach the lens onto the

Telephoto Lens Support Plate by twisting the 1/4" or 3/8" screw into
the bottom of the lens foot.

® Move the Horizontal Adjustment Rail up, until it couples with the bottom of
the QR Plate on the camera body. Lock the Quick Release Clamp and the
Adjustment Clamp Locking Knob.

@ If the 1/4" screw on Camera QR plate is not compatible with your camera,
you can remove it and simply rest the camera body on the platform (the
lens foot will secure the equipment). Please hold the camera when moving
the outfit. You can also use the Camera QR plate as a standard QR plate on
Sirui tripod and monopod heads.

® Slide the VP-350 onto the Sirui Video Head and tighten the Clamp Locking
Knob.

4. Cautions

@ To prevent excessive wear to the camera's tripod socket, you should not
frequently attach and remove the Quick Release Plate. It is quite common
to leave the QR Plate permanently attached to the camera.

® Please hold your camera while attaching and removing it from the QR
Clamp.

Specifications are subject to change without notice.

ARRANTY CARD INFORWATION

N\ e

Dear SIRUI Customer,

Thank you for your purchase of SIRUI Professional Products!

SIRUI warrants that your purchase is free from defects in materials and
workmanship under normal use during the Limited Warranty Period. The
Warranty begins on the original date of purchase on your sales receipt
and is not transferrable. If service is required, a copy of the sales receipt
must be included with an explanation of the problem.

Product Warranty Length
Tripods / Monopods / Accessories
6 years
Humidity Control Cabinet (Cabinet)
Humidity Control Cabinet (Electronics) 3years
Model: -~~~ _ _ Date: -~ _
Store: _ _ _ _ _ _ _ __ __ Serial Number:

Warranty coverage can differ from region to region.
Please see the contact information below for product registration,
information and service for the region the product was purchased in.

SIRUI 6 (six) Year Limited Warranty (3 Year Warranty for Electronic Parts).
This warranty shall be limited to repair, adjustment and/or replacement at
SIRUI or its authorized distributors option, of defective parts, free of charge
(except the cost of transportation to the distributor/service center).
Responsibility is limited to the actual cost of the item. Call or Email with
questions and service before sending any product to the center in your region.
Below is a listing of contact information for Product Registration, Service
Inquiries and Questions.SIRUI will not be responsible for expenses or
inconveniences, or consequential damages to equipment, or by breach of any
expressed or implied warranties.

Limitations:

Warranty is not transferable.

This warranty covers all defects encountered in normal use of the equipment

and does not apply in the following cases:

1. If the equipment has been serviced by other than an authorized SIRUI
Service Center.

2. Damage to the equipment is due to modification (including but not limited to,
the removal of ballhead clamps), overloading, mishandling, abuse, accident,
sand*, corrosives, water damage* or not following operating instructions.

3. No valid proof of purchase is provided.

4. Damage caused by acts of nature (including, but not limited to fires, floods or
earthquakes).

Warranty coverage can differ from region to region. Please see contact
information below for product registration,information and service for the
region the product was purchased in.

Warranty Address and Contact Information:
(Please contact the seller or the local distributor where the product was
purchased for warranty issues or questions and before any product is sent.)

1.Guangdong SIRUI Optical Co., Ltd.

The Third Industrial District, WuguishanTown, ZhongshanCity, Guangdong,
China

Tel:0086-760-88897373 Fax:0086-760-88207062
Http://www.sirui.com E-mail: info@sirui-photo.com

Service Hotline: 0086-400 830 2299

2.SIRUIUSA, LLC

Add: 29 Commerce Court Verona, NJ 07044

www.siruiusa.com

Service: Toll Free 866-373-0829  E-mail: info@sirui.com
FORPRODUCTS PURCHASED IN THE USAPLEASE SEE:

For full details on USA Warranty Terms and Limitations:
https://www.siruiusa.com/warranty.html

To register products: https://www.siruiusa.com/product-registration.html

3.Focus Nordic AB

For technical support, service or repairs, please contact:
Sweden: info@focusnordic.se www.focusnordic.se

Norway: info@focusnordic.no www.focusnordic.no

Denmark: info@focusnordic.dk www.focusnordic.dk
Finland: info@focusnordic.fi www.focusnordic.fi
Iceland: info@focusnordic.is www.focusnordic.is
Latvia: info@focusnordic.lv www.focusnordic.lv
Estonia: info@focusnordic.ee www.focusnordic.ee
Lithuania: info@focusnordic. It www.focusnordic.It
Poland: info@focusnordic.pl www.focusnordic.pl

4. TSE Imaging BV

Add: Argonweg 135,1362AD Almere, The Netherlands
Telephone: +31 (0)36 8450348 E-mail: service@tse-imaging.nl
(Exclusive Distributor for Netherlands, Belgium, Luxemburg)
www.sirui-photo.nl

5. CHgAE{Zatol=

HE S VIEx¥ A ESMHA NS,
MEEHAI BT HUER 10,15

Tel: 02-752-3304 Fax: 02-774-9903
www.sirui.co.kr  loweprokr@gmail.com

REABEE (P30

P N
A A 4

SIRUI

FGMEL BT

{5 F 15, 3R

VP-350KELTIER S

IREBBEZROABRAR

ik SARERUTEEUBE=TURX HB4R: 528458
Ei%: 0760-88897373 {£E: 0760-88207062 AR5 #iLk: 400 830 2299
HB%E: info@sirui-photo.com Pt www.sirui.com

049 SYIx06*0Zt  0S€-dA

6 wuw
E=E5H S

[ | 4ob
v

¥ES0S€-dA

11IAIRVP-350

VP-3501R % 1R

3/8"18 4%
1/4"42 42
3/8"18 4%

K e B 52 4R
KT 5
K S BB R e 6

2.%%VP-350

AFERRM

1.iAIRVP-350
VP-350KEXHRFEEATEBEZAKERLMIE, BIES
BiBE=aFER.

2. & ¥VP-350
ONBEFIMHEHYH, BKERERERRETFTKERE L,
REBREBEHNRENRE REFEL,
QB EZITHIVP-350R kB BHBE=E L, METBRENR
.

3. VP-35009 E A 1E

ORBHEINMKERLREKE—E, BRKERERERZE
B A AR ER .

QOB ERFNKEELEMEEVP-35009FBER E, BNME
MR KERERERLEFRERENM LS, FIAVP-
3501k 4E 4R _£1/4"FN3/8 "R L2 3 $E Sk B ITIEZEIE .

QBN B EBENRER, ILKPREREIRSKERERSE,
REGE. MRERSFERIT, TUAEHMNFKEFE

BEiZ gz, PFEFIEALEVP-350RKM|ENME, ER MM
&, XA AR RIRLL AR R B SRS, BIERE.

@WK FRERER M1 /4B L SRV KPBEAFLTER, 7UF
1/4"BLITT, KRERERRIRTAERENEBNZA

4. FEZEM
OERYUAELENEZEHRERER, UBEERTI RSN REELTL.
QUERLBRLEN, BAFHRBILE, UHEIEKE.

BHARAREFRARNBT - RARMEETSROF , HUZNNE , BRBTEH.
ERl & EMAERIERRBE AL AN ERNERTE , BELR.

REE£
s S——
EEHARE
BSEUIBRNTR | EESERTRESR , IREBFASH
MRRIZHARRDR  BHESRERBNRERS. EFERE
IRSES , BIREAFMERMUIEE (WRHAR  AEHREE) .
BHABERRSHL - 400 830 2299

FRER RIZERIR
S
= A& 6 &
B EIAE A K
B 3
FRES wxEEs;
WSS BERE .
BREMAE
BIEEE - - - - -

PR
(1) JEBE S, RO SRS CLTHA NI ) | (RSS2 H Sk

LAY, SRR TIRBR 55 iR R AR S, B

FRARILE D —RPERRE AT A AR H A 8 e i)l

(4) B EVRE R RS - SR E e R TR, SR T S A B T
YERSRIAT . FLPR T SR S5 5 e S5

IEAAZ LA
B ALY PR
@ TSR AN RIS e s

X AGREFRIBEFEXREER

HEIEZITRA

ARgs
RBRBE

FAF it 4k

e 4%

B A (2 R

HEARESR
HEERT 1R

HEEZITHRB

Jiilati==t
BFBiE

JzDab: k1

HR 4R

HR 4 (2 R

HEARES
HE(ERTIE

R BIEGE:

T — T

. 0 — |
wET2MMA—IT, KRBT,
BEIHTSELE, H547

A\

DALY

-~ 72mm-—»>

-y
LA 4

A
SIRUI

Professional Photographic Equipment

INSTRUCTIONS
VP-350
Telephoto Lens Support Plate

105 mMm————

GUANGDONG SIRUI OPTICAL CO.,LTD.
Add: The Third Industrial District, Wuguishan Town, Zhongshan City,
ng, Ci

BETREN 208

B




	1: 说明书正面

